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, ChlLdren wLLL start wlth a horLzonlal.
cr;;Lc.ltLation eg. 3*5=8

,From iere Ihey move oru to verticnL
addttion as the. cnnczpt oJ pLace 3l+

value ts tnlroduced. ,. j
J /
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S ubtractlo ru CaLctrlatlo rus
This is the samz process as addtlLorv.

However, chtLdren mwst Learn lh,aI
Ln subtractton, Ihe digits an't be
swopped arownd. You must always
start wlth the number aI the top oJ
Ihe caLcwLatlon.
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M u Ltip Licntion CaLcwlatlo rus
For rnultlpllcatioru tables, the IabLz
ruwmber cnmls Jirst.

5xl =5
5x2 = lO
5x3=15
We sag:
"JLve ones are fwe... fwe twos are len..'.
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" , t - ,cnrrv he I lens

,Jour twos are B
.'add th,e 2 Iens Ihat were

cnrrted to gLve &rL &nswer
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2 8 + 1
ln additioru, swbtractl on and

-muLtiplicotton we stort wlth

_the wrults. However, dfvlslon rs-difJerenll 
We start wlth diglt

nearusl to the nurnber wL &re
d.ividingby. 
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,tlptglng bS lu

dlglts move up one pLacz vaLue to thz Lef .

ALf digits movr- vp two placz vaLues to the LeJt.

dlglts move dowru one pLae. vaLwe to the rLgW

Lqfts move down two plncz vaLues to tha,

Thn ilec:;rnal ptnt iniii rnovei The nunrbei
f  -  l -  ,  |  |

I zeros undkntes how rnaruy pbcr-s to rnove.

Lonq Md tLolLcatlon
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